



$x = \frac{1}{2}(e^y - e^{-y})$  ( $-\infty < y < \infty$ ) のとき、次の問いに答えよ。

- (1)  $\frac{dx}{dy}$  を  $y$  の関数として表せ。
- (2)  $\frac{dy}{dx}$  を  $y$  の関数として表せ。
- (3)  $\frac{dy}{dx}$  を  $x$  の関数として表せ。

$$(1) \frac{dx}{dy} = \frac{1}{2}(e^y + e^{-y})$$

$$(2) \frac{dy}{dx} = \frac{1}{\frac{dx}{dy}} = \frac{1}{\frac{1}{2}(e^y + e^{-y})}$$

$$\therefore \frac{dy}{dx} = \frac{2}{e^y + e^{-y}}$$

(3)  $x = \frac{1}{2}(e^y - e^{-y})$  より  $e^y$  を求めることを考える

両辺  $\times e^y$  して

$$2e^y x = e^{2y} - 1$$

$$e^{2y} - 2e^y x - 1 = 0$$

$$(e^y - x)^2 - x^2 - 1 = 0$$

$$(e^y - x)^2 = x^2 + 1$$

$$e^y - x = \pm \sqrt{x^2 + 1}$$

$$e^y = x \pm \sqrt{x^2 + 1}$$

$e^y > 0$  より

$$e^y = x + \sqrt{x^2 + 1} \quad \dots \textcircled{A}$$

$$\begin{aligned} e^{-y} &= \frac{1}{x + \sqrt{x^2 + 1}} \\ &= \frac{x - \sqrt{x^2 + 1}}{x^2 - x^2 - 1} \end{aligned}$$

$$\therefore e^{-y} = \sqrt{x^2 + 1} - x \quad \dots \textcircled{B}$$

$\textcircled{A}$  と  $\textcircled{B}$  の積を求め

$$\frac{dy}{dx} = \frac{2}{x + \sqrt{x^2 + 1} + (\sqrt{x^2 + 1} - x)}$$

$$\therefore \frac{dy}{dx} = \frac{1}{\sqrt{x^2 + 1}}$$

